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Training Module on Forestry Audit

1.0 Introduction to Audit Forest

	EXERCISE
	:
	1.1

	TOPIC
	:
	Classifying 3Es


SUGGESTED SOLUTIONS
	No.
	Cases
	Economy
	Efficient
	Effective
	Arguments

	1.
	Timber logging activity does not include timber wastes such as big branches and defect stems.
	√
	
	
	The timber wastes also have economic value and could derive revenue

	2.
	Adding the number of staff for forest management project has caused the increase of the program cost without adding the output volume.
	
	√

	
	Without adding the number of  staff the program could still achieve the same targeted result

	3.
	Based on standard of forest safety, the height of fire surveillance tower in a flat region is 30 metres that is to control area as of 10 hectares. The fact that the fire surveillance tower was built 20 metres tall with coverage of maximum 6 hectares supervision area, has made the target of 100 hectare controlled area with 10 towers could not be attained.
	
	
	√
	The expected output which is  surveillance towers do not meet the standard, so that the goal/the target set is not achieved

	4.
	Timber provision/tax is not regularly evaluated by the government hence the value is four times lower than the market price. Finally, the Government’s goal to increase income from timber provision cannot reach the target. 
	
	
	√
	The output (provision) could not reach its target in order to maximize the government’s revenue

	5.
	The trees  resulting from forest and Land Rehabilitation Activities that planted along the pedestrian area in the city were cut after  two years, in order to expand the road. 
	
	
	√
	The objectives of rehabilitation activities  is not realized

	6.
	The specification of seeds did not meet the  requirements and contribute to the higher number of failure in planting activities. Therefore, the rehabilitation target was not achieved.
	
	
	√

	The objective of the activities could not be met

	7.
	Based on the guidance of rehabilitation activities, the specification of seeds’ height is 30 cm and at least consist of  4 leaves with $2 priced. The fact is, the seeds used are 1 m tall with $6 priced. From the observation, the successful of growth is higher for the alternative’s seeds taken.
	
	√
	
	(For positive findings) It is an efficiency finding because better quality seeds result in a better output (growing plant)

	8.
	In mangrove rehabilitation activities, the planted seeds are 5.000 pieces per hectare. According to the standard, the required amount of seeds per hectare are 3.500 pieces.
	
	√

	
	It should take less input to produce determined/best output, hence a waste of 1.500 pieces is occured

	9.
	The authorization of forest utilization to a third party has delayed because of  the process of establishing permanent forest estate by the government is hindered by a land tenure problem.
	
	√
	
	The input -authorization- was delayed, and then disturbs the forest utilization process, for the unclear status of the land

	10.
	The procurement committee did not conducted any survey to observe the market price, given the purchase price of particular goods above market price.
	√
	
	
	The purchase price is more costly

	11.
	A problem in storing database gives impact to losing significant data. The activity established to recollecting the data before starting the project implicates in additional cost to the program.
	√
	
	
	The recollecting activity increases the cost of the program

	12.
	There were no operating procedures developed by management for distributing grants in a particular forest management project. The project incurred unexpected delays and inflation occurs before the grants have distributed.
	
	√
	
	If there was an operating procedures in place, the project might run on time and meet the determined budget
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